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Al.

a. Aabog
B. Zwotod
Y. Zwoto
6. Nabog
€. Zwotd
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OEMA B
B1.
AQAEKANHZA
NAZOz

KYKAAAEZNA=OZ

4
B2.
a)
def tipose(self):
if self.vathmos>10:
print " Mpoaystat "
else:
print " Mapamépnetar "
B)

mathitis1 = Mathitis(103,"NwoAdaou",19)

mathitis2= Mathitis(105,"lewpyiov",9)

V)

mathitis1.tipose()

5)

mo = (mathitisl.vathmos + mathitis2.vathmos ) /2.0

print "MO=",mo
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B3.
(1)0
(2) word
(3) letter
(4) m
(5)1

(6) m

OEMAT
#r3
def ypologismos(tem):
if tem <=3:
return tem * 120
elif tem <=6:
return 3*120 +(tem-3) * 100
else:
return 3*120 + 3*100 + (tem-6) * 70
#12
synolo =0
plithos_pano10 =0
#rl
foriin range(50):
temaxia =int(input(" : "))
#r12
xreosi = ypologismos(temaxia)

print xreosi
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#r2
synolo += xreosi
if temaxia > 10:

plithos_panol0 +=1

print " ZuvoAika €coda",synolo

print " Moco0TO TTEAATWY TIOU AyopacayV TTavw amo 10 tepaxta”, plithos_pano10*100.0/ 50.0

OEMA A
KOD = []

VATM =[]

H#A1
kod =raw_input("AwoTte kwSLko: ")
while kod !="TEAOZ":
KOD.append(om)
vath =int(input("Awote Babuo: "))
while vath<1 or vath >100:
vath =int(input("Awote Badbpo: "))
VATH.append(vath)

kod =raw_input("Awote KwSIKO: ")

#A2

synolo=0

N = len(KOD)

foriin range(N):
synolo += VATH [i]

print float(synolo)/N
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#A3
max_vathmos = -1
N = len(KOD)
foriin range(N):
if VATH [i] > max_vathmos:

max_vathmos = VATH [i]

foriin range(N):
if VATH [i] == max_vathmos:

print KOD [i]

#AA

N = len(KOD)

f = open("epityxon.txt","w"

p=1

foriin range(N):

if VATH [i] > 60:

f.write(str(p)+"."+ KOD [i] +"\n")
p=p+l

f.close()
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